

Ex 1:

$$1/ D_1 = \begin{vmatrix} 1 & 1 & 1 \\ a & b & c \\ b+c & c+a & a+b \end{vmatrix} = \begin{vmatrix} 0 & 1 & 1 \\ a-b & b & c \\ -(a-b) & c+a & a+b \end{vmatrix} = \begin{vmatrix} 0 & 0 & 1 \\ a-b & b-c & c \\ -(a-b) & -(b-c) & a+b \end{vmatrix}$$

$$= (a-b)(b-c) \begin{vmatrix} 0 & 0 & 1 \\ 1 & 1 & c \\ -1 & -1 & a+b \end{vmatrix} = -1+1=0 \Rightarrow D_1=0.$$

$$D_2 = \begin{vmatrix} a & c & c & b \\ c & a & b & c \\ c & b & a & c \\ b & c & c & a \end{vmatrix} = \begin{vmatrix} a+b+2c & c & c & b \\ a+b+2c & a & b & c \\ a+b+2c & b & a & c \\ a+b+2c & c & c & a \end{vmatrix} = (a+b+2c) \begin{vmatrix} 1 & c & c & b \\ 1 & a & b & c \\ 1 & b & a & c \\ 1 & c & c & a \end{vmatrix}$$

$$= (a+b+2c) \begin{vmatrix} 1 & c & c & b \\ 0 & a-c & b-c & c-b \\ 0 & b-c & a-c & c-b \\ 0 & 0 & 0 & a-b \end{vmatrix} = (a+b+2c)(a-b) \begin{vmatrix} a-c & b-c \\ b-c & a-c \end{vmatrix}$$

$$= (a+b+2c)(a-b) [(a-c)^2 - (b-c)^2] \Rightarrow D_2 = (a+b+2c)(a-b)^2(a+b-2c)$$

$$2/ D_n = \begin{vmatrix} a & b & \dots & b \\ b & a & \dots & b \\ \vdots & \vdots & \ddots & \vdots \\ b & b & \dots & a \end{vmatrix} = \begin{vmatrix} a+(n-1)b & b & \dots & b \\ a+(n-1)b & a & \dots & b \\ \vdots & \vdots & \ddots & \vdots \\ a+(n-1)b & b & \dots & a \end{vmatrix} = (a+(n-1)b) \begin{vmatrix} 1 & b & \dots & b \\ 1 & a & \dots & b \\ \vdots & \vdots & \ddots & \vdots \\ 1 & b & \dots & a \end{vmatrix}$$

$$= (a+(n-1)b) \begin{vmatrix} 1 & b & \dots & b \\ 0 & a-b & \dots & 0 \\ \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & \dots & a-b \end{vmatrix} = (a+(n-1)b)(a-b)^{n-1}$$

$$\Rightarrow D_n = (a+(n-1)b)(a-b)^{n-1}$$

Ex 2: 1/ $A = \begin{pmatrix} 1 & 1 & 0 & 0 \\ 0 & 1 & 1 & 0 \\ 0 & 0 & 1 & 1 \\ 1 & 0 & 0 & 1 \end{pmatrix} \Rightarrow \det A = \begin{vmatrix} 1 & 1 & 0 \\ 0 & 1 & 1 \\ 0 & 0 & 1 \end{vmatrix} - \begin{vmatrix} 1 & 0 & 0 \\ 0 & 1 & 1 \\ 1 & 0 & 1 \end{vmatrix} = 1 - 1 = 0$

2/ $\Delta = \begin{vmatrix} 1 & 1 & 0 \\ 0 & 1 & 1 \\ 0 & 0 & 1 \end{vmatrix} = 1 \neq 0$ le système est compatible si $\begin{vmatrix} 1 & 1 & 0 & a \\ 0 & 1 & 1 & b \\ 0 & 0 & 1 & c \\ 1 & 0 & 0 & d \end{vmatrix} = 0$.

c'est à dire $\begin{vmatrix} 1 & 1 & b \\ 0 & 1 & c \\ 0 & 0 & d \end{vmatrix} - \begin{vmatrix} 1 & 0 & a \\ 1 & 1 & b \\ 0 & 1 & c \end{vmatrix} = 0$.

soit $d - (c - b) + a = 0$

et le système est compatible car $a + b + d - c = 0$.

soit $A = \begin{pmatrix} 1 & m & 1 \\ m & 1 & m-1 \\ 1 & 1 & 1 \end{pmatrix} \Rightarrow \det A = 1 - m$.

1^{er} cas : si $m \neq 1$ $\det A \neq 0$ $\begin{vmatrix} 1 & 1 & 1 \\ m & m & m-1 \\ 1+m & 1 & 1 \end{vmatrix}$; $y = \frac{\begin{vmatrix} 1 & 1 & 1 \\ m & m & m-1 \\ 1 & 1+m & 1 \end{vmatrix}}{1-m}$; $z = \frac{\begin{vmatrix} 1 & m & 1 \\ m & 1 & m \\ 1 & 1 & 1+m \end{vmatrix}}{1-m}$

2^{ème} cas si $m = 1$ $A = \begin{pmatrix} 1 & 1 & 1 \\ 1 & 1 & 0 \\ 1 & 1 & 1 \end{pmatrix}$ $\det A = 0$ $\Delta = \begin{vmatrix} 1 & 1 \\ 1 & 0 \end{vmatrix} = -1 \neq 0$

et $\Delta = \begin{vmatrix} 1 & 1 & 1 \\ 1 & 1 & 0 \\ 1 & 1 & 1 \end{vmatrix} = -1 \neq 0 \Rightarrow$ le système n'a pas de solution.

exercice 503 : déterminons $M(f)_{1, x_1, \dots, x^n}$.

$f(1) = 1$ $f(x) = 1 + x$ $f(x^2) = 0 \times 1 + 2x + 1x^2, \dots$ $f(x^n) = 0 \times 1 + 0 \times x + n \times x^{n-1} + 1$

$\Rightarrow M(f)_{1, x, \dots, x^n} = \begin{pmatrix} f(1) & f(x) & f(x^2) & \dots & f(x^n) \\ 1 & 1 & 0 & \dots & 0 \\ x & 1 & 2 & \dots & 0 \\ x^2 & 0 & 1 & \dots & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ x^n & 0 & 0 & \dots & n \end{pmatrix} \Rightarrow \det f = \det M(f)_{1, x, \dots, x^n} = 1$

exercice 504

$\dim(F + G) = \dim F + \dim G - \dim(F \cap G)$.

$\Rightarrow \dim(F \cap G) = \dim F + \dim G - \dim(F + G)$

$\dim F + \dim G > n$ et $\dim(F + G) \leq n$ ($(F + G)$ sous-espace de E)

$\Rightarrow \dim F + \dim G > n$ et $-\dim(F + G) \geq -n$

$\Rightarrow \dim(F \cap G) > n - n \Rightarrow \dim(F \cap G) > 0 \Rightarrow \dim(F \cap G) \neq 0$

$\Rightarrow F \cap G \neq \{0\}$

②